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Descriptive Statistics

1.1 Populations, Samples, and Processes
1.2 Pictorial and Tabular Methods in Descriptive Statistics
1.3 Measures of Location

1.4 Measures of Variability
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of observations x,, x,, ..., X, is given by
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A sample of eight resistors of a certain type resulted in . .
the following sample resistances (in ohm): can be viewed as a balance point fora

system of weights:
40, 43, 39, 35, 37, 43, 46, 37. Mean = 670
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Find the sample mean. S ——— -
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is obtained by ordering the observations
from smallest to largest and then

* taking the middle value if the sample
size is odd

* taking the average of the two middle
values if the sample size is even.
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A sample of (a) nine (b) eight resistors of a certain type
resulted in the following sample resistances (in ohm):

(a) 40, 43, 39, 35, 37, 43, 46, 37, 36.
(b) 40, 43, 39, 35, 37, 43, 46, 37.

Find the sample median.

- Stat 3115, Spring 2024 W
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is the mean / median of all values in a
population and is denoted by 1/ p

fp
{b) Symmetric

(e} Positive skew
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is obtained by removing the
smallest p% and the largest p% of
the data set and then taking the
average of what is left over.

Stat 3115, Spring 2024
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Copper content (in %) for a sample of certain artifacts:

2.0,24,25,26,26,2.7,2.7,2.38, 3.0,
3.1,3.2,3.3,3.3,34,34,3.6, 3.6, 3.6,
3.6,3.7,44,46,4.7,4.8,53,10.1.

Find the sample mean, the sample median, and
the 7.7% trimmed mean.
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